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They testified at the same time and were discredited

Overview

The & 13 reconciled the view that 2091 X7 ¥1917 1"y with a 73wn, which had "'y pay
'm '7;' that the mwn is discussing a case where the (Pnm) o7y testified
simultaneously regarding the 72°13 and the 77721 7720, and then they were a7, Our
nvoIN clarifies the ruling and the X077,

=191 1P9909 NNV MTY NYVA 919919Y XY HNN N2 1TPYNY 1194
For since they testified simultaneously both on the 712°13 and the »n"1v, we cannot

say that they were disqualified when they testified on the 111792, for -
- INYA0N HY IPYNYI 1N DIV HNN NI 1YY 1T 25093 NID Y1957 2) Y 9N

Even though the 1"V is disqualified retroactively to the time he testified,
nevertheless, since they testified simultaneously both on the 7712°33 and the n"10, they

were 27> when they testified on the 752w -
- 4y 399257 573 PINT DA% HY MTYN Y 1D MNY PYI* 1AV 11

Since they could have retracted on the testimony of the 772%13, for the M7y of n" 1w
was 7''9I0 of the 72713 M7y —

n1voIN asks:
= SHNN N2 1IN 1209) XYY 509093 YW NN IV

And regarding this which >''w9 explained that the texts do not read, ‘and they
were discredited simultaneously’ on the 72213 and on the n"w -

! According to the 091 X377 y79nb "'y 7"n, if they first testified on the 72°11 and later on the »", so later when they
were on77 (on the 72°13) they become 105 retroactively even before they testified on the n"1, so the testimony on the
1" is invalid, so how can they be amn on the n"w and pay 'm 7.
2 They first needed to testify on the 72°13, and then immediately afterward (127 >72 TIn), they testified on the n"1w.
When they were an: later (on the 712°13) they (seemingly) became 7109 from the moment they finished testifying on
the 712°13, so seemingly when they began testifying on the »n"w (right after their testimony on the 72°13) they were
already (retroactively) M7¥2 2109, so the question seemingly still remains how can we be 0°1» them on the »"W, since
they are already 0°2100 0°7v.
3 1"51n is the time it takes to say (%) *27 Ty oY2w. Within that time the 0°7v can retract their testimony, for it is
considered as if they did not finish testifying.
* They do not become 7109 from the moment they finished testifying on the 72°13, since they can still retract their
testimony; they only become 2105 the time of 7"51n after they finished their entire testimony, and since their testimony
of n" was 7"21n of their testimony on 172°1, they do not become 0°9105 0°7v, until they finished their testimony on the
n"w. See (footnote # 12 and) “Thinking it over’.
3 Rn27m A" "7
® This would mean that the 7717 on the 72733 and the "1 took place at the same time.
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For regarding the 11177, we do not care whether it was simultaneously or one

after the other -
= 35 n ANV YY MNHIY TaY9)

As long as they were a2 first on the 571793 and later on the 72713;

mooIn asks regarding this >"wA1 -
- 2NN NNV NNTNA VIVHPA NN NNT PHY 1929 NYPY

The 5''9 has a difficulty; what does °''w9 gain by having the 72177 on the 72w

before the 7n17 on the 72013 -
=900 HY DIYNDI NN ADINN NN DY NN DRXY DIVN INY

For if the gain is because if they were 12137 first on the ;2% they would be

contradicted on the 2w -
- 10855 T NYINN INY AYNINT 1APY 159 N30T 192310 aNT 19299N IN)

And we are offering this answer (71771 X"22 17°v7W) according to »a8 who later

maintains that m2no7 is not the beginning of 71217; if that is the gain -
— 11935357 Yy ©YUNNI NN NYINN NN2A0N HY NNV D) )9 DN

If so, then even if they were 121377 first on the 7m°2w, they are still wn2y on the
a=20a -

= 509 %2499 71NV 9INTI 7 92T 9T 213 TIN HNN NI YPYIY INNND
Since they testified simultaneously for the 712°1) and the 2", and the rule is that
anything which was said 7''2'n is considered as part of the initial 91337, as the X773

states shortly (on this 712¥) according to >''9 -
= 90 992579 91257 12 TINT DIVN MTYN Y3 NHVA NNYAVN DY 1IN HNN NA VYN 191

That when they testified on the 772°3) and the »" simultaneously, and they were
first 21177 on the 72w, their whole testimony is nullified'? (even the 72713 M7TY)
since 7''2'n is like 7127 -

"1f the n17y and the 7217 (respectively) were both nnix n23, certainly the 2>7v would be 21 for 'm 7, however it is only

necessary that the testifying was "33, however the 71177 can be 1"7.

8 If the mat was first on the 7233 (only), they would have to pay 793, however their testimony on the "1 would be

dismissed (since n"1 X 7213 PR OX), and we cannot make a 71777 on rejected testimony, so they would not pay '™ 7.

However, if the 177 was first on the n" they would need to pay '3 3 '2 (4 or 5, minus 2 [the 179 and 995 which is still

at this point a valid m7v]) , and when they will be amn on the 72°13 they will pay an additional 2 bringing the total to

"M 7. See, however, footnote # 12.

? See footnote # 8.

10 Therefore, once there is a Twna7 on the 2" (since they were already 117 on the 72°13), there can no longer be a

71 on the n'"10.

1 Just as there is a problem if 77’10 722337 5¥ N7, there will be a similar problem if 77°1n A7°207 %Y M.

12 »3x maintains 2091 X177 ¥1917 1"V, so when they were oM, they become ¥y91% 9109; they become 109 at the time
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n90IN concludes:
= N 9N NINN INY AWNON 9204 1)2‘,75‘1 AN NY20Y A NN 29 1INa ON)

So, if we want the justify this answer according to the reasoning of »2ax later,

who maintains w277 is not the beginning of 77777 (and also that 5091 X7 y1917 1Y) -
= BHnx N33 1mMHN DN 709

The text will need to read, ‘and they were also 21177 simultaneously on the 7213
and on the n"v -
= AN Y927 AWY ANY YYIN XININ PRY WINY PN YaN

However, there is no need for concern (if the X072 is not X"22 1M, for the X973

is not concerned to justify all the words of 2R (including X7 717 n2>nn W? AWwno7) -
= 909 NN Y1919 9IRY NN2 NON

Rather it only seeks to justify what »ax said that »o21 X7 psnb? 1"V -
- BYygh 1PYWIN9TI KON APTN NN AYNINT 12900 NUPNRN NHVIY 599 YINNY 79

So, the X973 continues to answer according to the view of the questioner, who

maintains 7wnom is 7717 n9onn, as I explained previously -
= NN NN NYINN IND NYWNIN INRT RAN 22ANRD 1PN0NN 2IWN 5 599pY 199

And similarly, later when the X723 justifies the mwn according to >°28, who

maintains K37 ;717 D9SN IND WA -
= 5993 NID Y9919 AN 9IRT INNY XINY WYIN PR DNYAVN YY APNN MNHNYI 1Y 3PN

By establishing the 71wn in a case where they were first maws » 1, the X3
was not concerned to answer according to the view of »ax that N7 y=onb 1"y

bop: -
- HNN N2 PNV P DYDY 798 1PN AT 2aY %5

For if that was his intent it would have been necessary to establish the 71wn in a

case where for instance they testified simultaneously, which the X723 does not mention

there at all -
3 P/ nYPNY NOVIPH NYN *{‘1517 wYIN PRY NN R 7979 NYN

Rather this is the manner of the X923 that he is only concerned to answer the

question which he was asked, without attempting to answer all possible questions which
were not posed here.

they testified »n"r 931 722137 9V, since they were all said 7", so we cannot accept any of their testimony including
the 7712°13 M7V, so there cannot be a situation of the 1"V paying ‘M 7, since the 7712°22 M7V is invalidated before the 1n
on the 72713 See (footnote # 4 and) “Thinking it over’.
13 This would make it a ‘regular’ case of 7a17; there was one N7y N7AT on »™VY 7233 simultaneously, and one 7217 on
their testimony of X"22 1" 72712
14 See 1mmm 1"7 'on [TIE footnote # 2]. If we maintain 7217 no°nn 7wani, the anti need not be X"33, because even
though there was a 7wna previously, it does not prevent a a1 to take place afterwards because X*71 7117 n2°nn wnon.
152,
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Summary
If we wish to establish the 71wn of 'm '7 according to both rulings of *aX (that 1"y

2091 X177 v9nY and 717 N9 RN IRY "wnon) it will be necessary to say that both the 7757
and the 7117 were (each respectively) niX n22. The X723 (generally) replies to the
question posed without considering other issues.

Thinking it over
Initially m»501n said (in the case of 171171 X"22 17°v17) that even though there was a nmi

on the 772°13 and %091 X7 v191° 1"y, nevertheless the 77737 on the 7%V remains valid
(since he could be 7"21n 7117).'® However later moo1n states'” that (in the same case)
if they were 1177 on the 7 2w, the entire M7V is P02 (even the 72°3 M7Y). How can
we reconcile these seemingly two contradictory statements?!

16 See footnote # 4.
17 See footnote # 12.
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